## LIST OF SUPPORTED SCHEDULED SERVICES

Service	Description	District	Operator	Days	Net Cost	Passengers	Cost per Passenger
				TOTAL =	£1,458,788	1,002,735	£1.45
1	Barrow : Hawcoat - Walney (Evenings)	Bar	SCC	M-Th	£9,609	9,200	£1.04
2/4	Barrow : West Shore - Holbeck Park (Evenings)	Bar	SCC	M-S	£22,981	25,163	£0.91
3	Barrow : Ormsgill - Newbarns (Evenings)	Bar	SCC	M-S	£22,978	30,950	£0.74
5	Barrow - North Scales (Daytime)	Bar	SCC	M-S	£23,722	50,332	£0.47 #
5	Barrow - North Scales (late pm)	Bar	SCC	M-S	-£3,365	16,527	n/a #
5	Barrow - North Scales (Evenings)	Bar	SCC	M-S	£17,148	8,263	£2.08 #
6	Whitehaven - Egremont - Seascale - Muncaster	Сор	SCC	M-S	£31,399	18,506	£1.69
7	Barrow - Ireleth (Daytime)	Bar	SCC	M-S	£59,782	18,300	£3.27 #
7	Barrow - Askam - Broughton - Millom	Bar / Cop / SLa	Trav C	M-S	£43,544	5,758	£7.56
7	Barrow - Askam - Broughton - Millom (Evenings)	Bar / Cop / SLa	SCC	FS	£17,426	2,407	£7.24 #
7	Barrow - Askam - Broughton - Millom	Bar / Cop / SLa	SCC	Sun&BH	£10,361	3,371	£3.07 #
8	Whitehaven : Kells - Mirehouse - Hospital (Evenings)	Сор	SCC	M-S	£20,134	8,306	£2.42
11	Barrow - Coast Road - Bardsea - Ulverston	Bar / SLa	Blu	M-S	£50,098	22,877	£2.19
22	Parton - Whitehaven - Frizington (Evenings)	Сор	SCC	M-S	£20,184	13,068	£1.54
22	Parton - Whitehaven - Frizington	Сор	SCC	Sun&BH	-£2,050	10,731	-£0.19
26	Whitehaven - St Bees - Egremont - Moor Row	Сор	Sim	M-S	£47,877	9,316	£5.14
33	Workington - Broughton - Cockermouth (am Peak)	All	SCC	M-S	£13,088	9,760	£1.34 \$
33	Workington - Broughton - Cockermouth (pm Peak)	All	SCC	M-F	£7,721	1,260	£6.13 \$
36	Workington - Brigham - Cockermouth (daytime)	All	Rea	M-S	£40,547	33,245	£1.22 \$
36	Workington - Brigham - Cockermouth (am peak)	All	SCC	M-S	£9,461	7,015	£1.35 \$
36	Workington - Brigham - Cockermouth (pm peak)	All	SCC	M-S	£25,056	4,880	£5.13 \$
44/445	Kendal : Hallgarth	SLa	KLCH	M-S	£17,727	94,859	£0.19

Service	Description	District	Operator	Days	Net Cost	Passengers	Cost per Passenger
46/47/50	Workington : Salterbeck / Moorclose / Seaton (Eve)	All	SCC	M-S	£5,705	14,040	£0.41
46/47/50	Workington : Salterbeck / Moorclose / Seaton	All	SCC	Sun&BH	-£2,225	10,723	n/a
47/604	Newton Arlosh / Ireby - Wigton	All	Rea	Tue	£1,054	571	£1.85
57	Maryport Town Service (late pm)	All	SCC	M-S	£19,087	18,910	£1.01
60 / 70	Ulverston : Croftlands / Canal Foot	SLa	Lecks	M-F	£16,588	20,859	£0.80
69	Carlisle : Holme Head - Eden Town (Stanwix)	Car	SCC	M-S	£6,023	43,885	£0.14
71/101/97	Carlisle - Anthorn - Kirkbride / Cargo - Rockcliffe	All / Car	SCC	M-S	£59,725	15,049	£3.97
71	Carlisle - Anthorn - Silloth (Evenings)	All / Car	SCC	M-S	£17,505	2,709	£6.46
73	Carlisle - Caldbeck - Ireby - Keswick	All / Car / Ede	SCC	Sat	£4,460	2,251	£1.98
75/65	Durdar / Dalston - Carlisle (Evenings)	Car	SCC	M-S	£52,185	11,031	£4.73
75/65	Durdar / Dalston - Carlisle	Car	SCC	Sun&BH	£14,945	5,939	£2.52
93	Carlisle - Drumburgh - Bowness (Evenings)	All / Car	SCC	M-S	£10,464	2,525	£4.14
94/7	Hallbankgate / Castle Carrock - Carlisle	Car	SCC	M-F	£25,971	6,153	£4.22
94	Crosby-on-Eden - Carlisle (am peak)	Car	SCC	M-S	£3,003	1,503	£2.00
95	Gilsland - Hayton - Great Corby - Carlisle	Car	Rea	M-S	£48,177	17,396	£2.77
101	Cockermouth : Rose Lane	All	Rea	M-S	£26,326	7,997	£3.29
105	Greystoke - Blencow - Penrith	Ede	Alb	M-S	£29,251	6,681	£4.38
106	Penrith - Clifton - Shap - Tebay - Kendal	Ede / SLa	KLCH	M-S	£47,936	36,014	£1.33
106	Kendal - Tebay - Shap - Clifton - Penrith	Ede / SLa	Rea	M-S	£42,736	34,794	£1.23
111	Penrith - Askam - Bampton - Burnbanks	Ede	Alb	Tue	£4,958	1,412	£3.51
185	Carlisle - Brampton - Gisland - Haltwhistle	Car	Tel	M-S	£23,369	8,298	£2.82
218	Frizington - Branthwaite - Workington	All	Pic	Fri	£701	1,318	£0.53
300	Carlisle - Wigton - Whitehaven (Late Evenings)	All / Car / Cop	SCC	M-S	£389	5,791	£0.07
508	Bowness-on-Windermere - Kirkstone - Patterdale	Ede / SLa	SCC	S&Su	£713	1,586	£0.45
509/538	Askam / Lakeside - Ulverston	Bar / SLa	Lecks	Thu	£2,729	961	£2.84

Service	Description	District	Operator	Days	Net Cost	Passengers	Cost per Passenger	
516	Bowness - Ambleside - Dungeon Ghyll (Winter)	SLa	SCC	Sun Only	-£535	1,576	-£0.34	$\Box$
532	Lindale - Grange - Allithwaite - Flookburgh - Cartmel	SLa	Trav C	M-S	£45,830	33,650	£1.36	$\dagger$
552	Kendal - Natland - Milnthorpe - Arnside (mid-am)	SLa	SCC	M-F	-£5,476	4,627	n/a	$\top$
552	Kendal - Natland - Milnthorpe - Arnside	SLa	SCC	Sat	£6,463	1,411	£4.58	
554	Carlisle - Wigton - Castle Inn - Keswick (Winter)	All / Car	SCC	M-S	£7,578	8,794	£0.86	#
554	Carlisle - Wigton - Castle Inn - Keswick (Winter)	All / Car	SCC	Sun Only	£1,234	1,431	£0.86	#
555	Kendal - Windermere - Ambleside - Grasmere (Winter)	SLa	SCC	M-S	£6,762	3,139	£2.15	T
561	Appleby - Burrells - Kendal	Ede / SLa	Rob	Wed	£1,555	3,093	£0.50	T
562	Crosby Ravensworth - Morland - Penrith	Ede	Fel	Tue	£1,902	938	£2.03	T
563	Kirkby Stephen - Appleby - Penrith (Daytime)	Ede	G.Prix	M-S	£22,497	44,325	£0.51	#
563	Kirkby Stephen - Appleby - Penrith (Evenings)	Ede	G.Prix	M-S	£44,583	19,700	£2.26	#
564	Kirkby Stephen - Sedbergh - Kendal (Daytime)	Ede / SLa	G.Prix	M-S	£49,265	34,475	£1.43	#
567	Kendal - Crooklands - Kirkby Lonsdale (mid am)	SLa	SCC	M-S	£3,383	4,022	£0.84	
567	Kendal - Crooklands - Kirkby Lonsdale (late pm)	SLa	SCC	M-F	£10,084	1,656	£6.09	
567A	Sedbergh - Barbon - Casterton - Kirkby Lonsdale	SLa	Wof	Thu	£3,053	1,060	£2.88	
597	Windermere Town Service	SLa	Blu	M-S	£11,492	9,856	£1.17	
600	Carlisle - Wigton - Bothel - Cockermouth (Evenings)	All / Car	SCC	M-S	£26,739	6,471	£4.13	
625	Appleby - Long Marton - Knock - Penrith	Ede	Rob	Tue	£3,077	1,043	£2.95	
680	Nenthead - Alston - Brampton - Carlisle	Car / Ede	Tel	M-S	£22,953	8,990	£2.55	
685	Gilsland Diversion (late pm)	Car	SCC	M-S	£3,497	n/a	n/a	
685/185	Carlisle - Brampton (Evenings)	Car	SCC	M-S	£15,165	5,731	£2.65	
685/185/279	Carlisle - Brampton / Longtown	Car	SCC	Sun&BH	£7,216	4,647	£1.55	Ī
830/835/836	Egremont Town Services + St Bees + Braystones	Сор	Bro	M-S	£21,127	15,902	£1.33	
889	Alston - Hexham	Ede	Wri	Tue	£2,264	n/a	n/a	
AD122	Hadrians Wall Bus : Carlisle - Hexham (Summer)	Car	Alb	Daily	£8,560	17,177	£0.50	

Service	ervice Description District Operator Days		Net Cost	Passengers	Cost per Passenger		
M1.0	Millaga Taura - Hayaring	Сор	Trov. C	МС	050,000	20.120	01.50
IVI 1-3	M1-3 Millom Town + Haverigg		Trav C	M-S	£50,863	32,130	£1.58
X5	Workington - Keswick - Penrith (Evenings)		SCC	M-S	£21,206	18,051	£1.17
X6	Barrow - Ulverston - Grange - Kendal (Evenings)	Bar / SLa	SCC	M-S	£46,080	10,953	£4.21
X6	X6 Whitehaven - St Bees - Seascale - Millom		SCC/3D	Sun Only	£21,595	1,754	£12.31
X12	Ulverston - Greenodd - Torver - Coniston	SLa	Аро	M-S	£31,573	23,643	£1.34

<u>Notes</u>	
#	Service is part of a larger contract (so figures are estimates of the proportion of their parts of the larger contract)
n/a	Figure is either not available (diminimis contracts) or contract is currently in surplus
\$	New contracts added December 2013
Winter	November to Easter
Summer	Good Friday to Late October

See next page for details of District / Operator and Day Codes

Service	Description	District	Operator	Days	Net Cost	Passengers	Cost per Passenger	
---------	-------------	----------	----------	------	----------	------------	-----------------------	--

## **Service Operators**

3D	3D Travel
Alb	Alba Travel
Apo	Apollo 8 Travel
Blu	Blueworks Private Hire
Bro	Brownriggs
Fel	Fellrunner
G.Prix	Grand Prix
KLCH	Kirkby Lonsdale Coaches
Lecks	Lecks Travel
Pic	J.B. Pickthall
Rea	Reay's
Rob	Robinson's Coaches
Rou	Ken Routledge
SCC	Stagecoach
Sim	Sims Coaches
Sta	Stagecoach
Tel	Telford Coaches
Trav C	Travellers Choice
Wri	Wright Bros
Wof	Woof's of Sedbergh

## Days

M-S	Monday - Saturday
M-F	Monday - Friday
M-Th	Monday - Thursday
Daily	7 days a week
Tue	Tuesday only
Wed	Wednesday only
Thu	Thursday only
Fri	Friday only
Sat	Saturday only
S&Su	Satudays & Sundays only
Sun Only	Sunday only
Sun&BH	Sundays plus Bank Holidays

## Districts

All	Allerdale
Bar	Barrow
Car	Carlisle
Сор	Copeland
Ede	Eden
Sla	South Lakeland

17/12/2013